
 

 

  Ê´É§ÉÉNÉ-2  ગણિત / વિજ્ઞાન  
 
 

76. ? 

(D)  x < y 
 

77. (M) ? 85, 97, 72, 76, 84, 92, 88, 73, 87, 99 
 

(D)  86 

78. A = {x | x 2 } A ? 

(D)  
 

79. 3 ` 20000 

? 
 

(B)  ` 12000 
 

80. A, B, C, D ? 

(C) 10% 90 
 

81. –3 7 ? 

(D) 7 
 

82. 14 5 ? 

(C)  770 
 

83. 18 20 15 

 

(C) 24 
 

84. ? (5)3 - 
 

(D) 11 
 
 
 

 

64 + 3 64 



2 

 

85. 3251 + 587 + 369 – ? = 3007 
 

(A) 1200 
 

86. 
 

(B)   
1 

, 
2 

, 
4 

, 
3 

, 
5 

, 
6
 

3  5  7  5  6  7 

87. 4 : 9 

(B) 2 : 3 
 

88. 5 

3 

(A) 34 

89. 

(A) 900 

90. 4 6 8 2 

(C) 10 
 

91. 8 6 

92. 10 125000 ;\bIFGF VFWFZ[ T[GF WGD}/GM V[SDGM V\S SIM CX[P 

(B) 0 
 

93. 8019 

(C) 11 
 

94. 

(D) 
 

95. 

 
3 

(5 ) 
(C) < 

? 
523 

 

96. 

(C) 
 

97. 
 

(D) 6 
 

98. 50 40 

(A) 25% 
 
 

99. 7 
3 

12 

56 
8 56 

5 

4    
9 

? 

10 
6 

 

(D)  90 



 

 

100. 60 20 

5 

(C)  10 
 

101. 12 9 20 10 12 

(C)  18 
 

102. 4 4:30 

(C) 36 

103. → 
3 

, 
2 

, 
4
 

5
 

 

1 

(A) 6 

4  3  5 6 

 

104.  9 + 19 + 29 + ................ + 99 ? 
 

(A)  540 

 

 



2 

 
 

105. 

5.6
3  

+ 4.4
3
 

5.62  - 2.8 × 8.8 + 4.42    ? 

(D) 10 
 

106. XXV ? 
 

(A) 11001 

 

107. 6 : 50 ? 
 

(D)  95° 
 

108. 25 + 3 125 
 

(C)  5 

50 ? 

 

1 
109. a +  

a 

 

= 2 a4  + 
1 

a
4    ? 

(A) 2 

 
110. 10% 2 `120 ? 

 

(D)  `12000 
 

111. 3x + 4y = 8 ? 
 

(A) x = 2, y = 
1
 

2 
 

112. 3 : 4 : 6 : 5 

? 
 

(C)  60° 
 

113. P(x) = 2x3 – 5x2 + 7x – 25 x – 3 ? 

(A) 5 

114. 

(A) N 
 

115. 

(A) 
 

116. 

(B) 
 

117. ¶ÉÖÅ H¾à Uà? 

(C) 
 

118. 

(B) 



 

119. 

(C) 
 

120. 

(B) 60° 
 

121. 

(C) 
 

122. 

(A) 

123. 

(C) PÉ÷ÉàeÒ 

 

124. 

(A) 2n2
 

 

125. 

(D) 
 

126. ÉÅ O 

(B)  

127. qÃÒ

(B) Fe O 
2    3 

 
128. H SO 

 
+ 2NaOH-> Na SO 

 

+ 2H O 
2 4 2 4 2 

(C) Na SO 
2 4 

 

129. 

(A) 
 

130. 

(D) -CHO 
 

131. (reflex action) 

(A) HùÉàeùVWÖ 

132. 

(D)  
 

133. 

(C)  
 

134. 40W 5 10 

(C) 2 



2 

135. 

(A) 

136. 

(D) S
 

137. 

(C)  

138. 

(C) 
 

139. 

(D) 
 

140. º~É £

(C)  
 

141. 

(A) 

142. 

(C) 
 

143. 

(D) 
 

144. 

(D)  

145. 

(D)  
 

146. 4° 0° 

(A) PÉ

147. 

(B) Êù¥ÉÉà]Éà©É 

148. 

(A) 

149. 

(C) 
 

150. 

(D) HCl+NaOH-NaCl+H O 
 

● ● ● 


